CIC-1(E+H)

CERTIFICATE IN COMPUTING (CIC)
Térm-End Examination

December, 2006

CIC-1 : THE CONTEXT

Time : 2 hours Maximum Marks : 100

Note :
(i) Do not start answering until the invigilator asks you to start.

(i) Question paper contains 100 questions. Student is required to answer all the questions.
There is no choice.

(iii) All questions carry equal marks.

(iv) Each question must be given one answer only. If more than one answer is marked or
gwen, zero mark will be awarded for that question.

A Multiple Chome (Questlons number 1 to 50)

Note : Four choices are given for a question, out of which one choice may be correct. Mark correct
answer in relevant column of the answer sheet given to you. In case you feel that none of
the chozces gwen in a question is correct, mark in column 0.

1.  The speed with which changes in the post-industrial society are taking place is
(1) Amazingly fast (2) Slow ‘
(3) Fast ' (4) Amazingly slow

2. Technological Utopianism is especially powerful in

(1) India (2) USA.
(3) China (4) Japan
3. is obtained through processing of data.
(1) Data

(2) Instruction
(8) Information
(4) Knowledge
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10.

11.

According to Wersing and Nenling which one is not the approach of information ?
(1) Structural ‘ (2) Knowledge
(3) Explaining (4) Meaning

TCP/IP stands for

(1) Transmission Control Protocol and Internet Protocol

(2) Transmission Centered Protocol and Ihternet Protocol
(3) Transaction Control Protocol and Internet Protocol

(4) Transaction Control Processing and Internet Protocol

Hosts and local networks are grouped together into
(1) Packets . (2) Address
(3) Protocol : (4) Domains

FAQs is the list of
(1) Questions only
(2) Help

(3) Questions and answer format

(4) None of the above

Connection within the text to other documents is calfed
(1) Hyperjoin (2) Hypertext
(3) Hypermedia . (4) All of the above

Which one of the following is not a range of complexity ?
(1) Organized simplicity

(2) Disorganized simplicity

(3) Organized complexity

(4) Disorganized complexity

Which of the following is not an extraordinary complex problem ?
(1) Earthquake prediction (2) Weather forecasting
(3) Genetic defects (4) None of these

The amount of time a computer needs to take to run to complete a job is
(1) Time complexity )

(2) . Space complexity

(3) ' Linear complexity

(4) Non-linear complexity
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12.

13.

14.

15.

16.

17.

18.

‘If” statement has two parts which are
(1) If clause and then condition

(2) If and then condition

(3) If condition and then clause

(4) If and then clause

ADT stands for

(1) Abstract Design Type
(2) Abstract Diagram Type
(3) Abstract Decision Type
(4) Abstract Data Type

Technique through which a new object may be created by extending existing object is

(1) Encapsulation
(2) Class -

"~ (8) Function

(4) Inheritance

The size and number of procedures of a program can be reduced by using

(1) Polymorphism

(2) Extensibility

(3) Maintainability
(4) Encapsulation

Arrange the following computing time in ascending order :

1) Om)

(i) O(m2)
(ii) Om3)

(D i, i, il , (2) ii, iii, 1

3) i, ii, iii (4) i, i, 1

Which of the following is not a type of Information System ?
(1) OAS (2) MSI

(3) TPS o (4) DSS

In decision tree the ﬁrst choice or decision is called
(1) Leaf (2) Branch
(3) Shoot ~ (4) Root
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19.

20.

21.

22,

23.

24,

25.

26.

A number, which cannot be expressed as the product of two or more factors, each smaller
than itself, is called ' ‘ ' '

(1) Whole number
(2) Prime number

(8) Natural number

(4) Even number

What will be the decimal number of a térnary number ‘12020’ ?
(1) 141 ' (2) 138
(3) 136 o (4) 132

A de(_:ision table with four conditions has
(1) 4 rules (2) 8 rules
(8) 12 rules (4) 16 rules

Questionnaire is an example of decision table.
(1) mixed entry . '
(2) extended entry

(3) open ended

(4) None of the above

Connected but independent sub-systems is an example of
(1) Distributed system o

(2) Integrated system

(3) Centralized system .

(4) Decentralized system

Economies of large-scale operations is possible to obtain in

(1) Decentralized Data Processing System
(2) Centralized Data Processing System
(3) Both (1) and (2)

(4) Neither (1) nor (2)

Data collected for a given period of time and processed as a single job is called
(1) Online processing (2) Batch processing
(3) Off-line processing (4) Real-time processing

A decision table has sections.
1) .5 (@2 7
3) 9 4) 11
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27.

28.

" 29,

30.

31.

. 32.

33.

34.

In data dictionary the symbol of ‘optional entry’ is
o O 2 {1

3) [1] ' 4

help analysts maintain their dictionaries with the help of the computer.
(1) Data ' (2) Charts
(3) Trees o (4) Data dictionary system

Which of the following is not a type of flow chart ?
(1) System flow chart

(2) Computer run flow chart

(3) Problem run flow chart

(4) Program flow chart

techniques have been perfected by Artificial Intelligence (AI) reseafcheré to
reduce decision influences based on codified knowledge. '

(1) Decision Support

(2) Expert System

(3) Management Information System
(4) None of these

Online systems can reduce data processing
(1) Cost , (2) Speed
(8) Delay (4) Service

Which of the following is not a rule of data dictionary entries ?

1) Words should be defined to stand for what they mean

(2) Each word must be unique

(3) Aliases or synonyms are allowed when two or more entries show the same meaning
(4) Self-defining words should be decomposed - v

Graphical description of a system’s data and how the processes transform the. data is known
as

(1) DFD | (2) ER Diagram

~(3) Flow chart (4) None of the above

A list of all the processes involved in a decision table is ‘known as
(1) Condition stub (2) Condition entry
(3) Action stub , (4) Action entry
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35.

36,

37.

38.

39.

40.

41.

42,

43.

Pipeline through which information flows, is symbolised by

(1)

3

Circles (2) Arrows
Closed boxes ; 4) Open-ended boxes

architecture manages a smgle database of information among many

concurrent users.

G

(1) Integrated - (2) Dumb-terminal
(3) Client-server : (4). None of the above
is used to build dynamic web documenté.
(1) CGI (2) HTML
(3) ORACLE " (4) All of the above
allows a user to move up and down a web page

(1)  Scrolling . 2 Frammg

Linking (4) All of the above

Decision tree is graphic equivalent to

(D
3

Flow chart . (2) DFD
Dialogue tree (4) Decision table

Which one of the following can create resistance to mformatlon flow ?

1)
6]

Language (2) Medium -

Jargon e .~ (4) Presentation

A web page is a document

1

(2)
3
4)

that consists of one or more parts that can be read by’ a web browser such as the
Internet Explorer

saved in HTML format
which helps dlstnbute mformatlon over the Internet
All of the above '

The most common operation used in constructors is

(1)
3

1 -
(2)
3)
4)

Addition _ (2) Overloading
Assignment (4) Polymorphism

: A setting or action predetermined by the program unless changed by the user is called as

Default

Setting

Predetermined setting
User setting
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44,

45.

46.

417.

48.

49.

50.

Which of the following topologies shares a single channel on which all stations can receive
and transmit ?

(1) Bus ' (2) Tree
(3) 'Star‘ ‘ (4) None of the above

What is a leaf node ?

(1) No fﬁrther Iinks

(2) A node with multi-directional links
(3) A node full of hot spots

(4) None of the above

Morley’s Theorem deals with

(1) Spanning circles

(2) Irrational numbers

(3) Intersection of angle trisectors of a triangle

(4) Prime numbers

In graph-theoretic terms, the problem reduces to the
(1) Statement (2) Symbol

(3) Inmstruction (4) Question

states are impossible in cannibals and missionaries problem.
(1) 3 cannibals and 2 missionaries on the v‘left'
(2) 1 cannibal and 2 missionaries on the right
(3) Both (1) and (2)
(4) Neither (1) nor (2) ‘

For every integer ‘n’ greater than 2
1) @) >n" @ @H?<n”

(3) (a)?2n" 4) @)% <n®

If ‘p’ is a prime and ‘@’ is an integer not divisible by p, then p divides

(1) aPl—1 @ aP ! —1

@) a*li1 @ a1
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B State whether True or False (Questions number 51 to 100)

Note : In the followzng 50 questions, mark 1, if the statement given is true and 0 if the
statement given is false.

51. Information society enables most of its members to engége in productiife puréuits;
52. Instructions given in a program do not define anyvactions for the compufei‘.

53. Early information was almost en£ifely discipline-dependent.,

54. In Real-time processing, transactibn is ﬁrocesse,d as soon as it enters the system.
55. Production of goods and services was the main acﬁvity in the pre-industrial society.
56. Government officials need information to pursue theif vocations.

57. Information is timely transitory.

58.  Production scheduling comes under the preview of data processing for req-brds,.

59. Internet and Intranet are one and the éamé thing.

60. Cbsf of information system includes the cost of space and environmental control factors.
61. The relationvship between actions and outcémes is linear.

62. The computing time O(n) is superior than O(n?).

63. NP contains some finite number of problems.

64. Graph-colouring is an example of NP-Complete problem.

65. In C, you can define an ADT (Abstract Data Type) using "typéd‘ef’.

66. Internet is a global connection of interconnected networks.

67. /n’is an invalid character constant.

68. Telnet is a software package.

69. Many object-oriented languages encourage reusability by prov1d1ng robust libraries,
~ browsers and interactive debuggers.

70. Polymorphisin means the quality of having more than one form.
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1.
72.
73.

74.

75.
76.

71.

78.
79.
- 80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.

92.

The degree of a vertex is the number of edges which meet at it.
17 is a prime number.
‘Twins prime’ may differ by 3.

The product of the six differences will be divisible by 12 if it is divisible by 3 as well as
by 4. ‘

Larger the gravitational mass, the stronger its gravity.

1, 3, 7, 9 are the end digits of all primes.

" An Office Automation System allows many office activities to be performed in an electronic
mode.

DFDs do not supply detailed descriptions of modules.

Data dictioﬁaries do not offer statistical facts.

In-line dictionaries are not associated with DBMS.

Conditjon entry contains ‘Yes or No’ responses.

Dialogue tree has multiple branch points.

A dialogue tree is too specific.

Trees cannot be read by non-technical usérs.

Flow chart involves various processing steps.

Centralized data pfocessing system avoids duplication of activities.
Organizational autonomy is not important for decentralized data processing system. )
Distributed system is an alfernative to integrated system.

LAN staﬁds for Local Area Network.

In a client-server application, the client works with small specific data sets.

In any computer network “file server” is the central node that stores data files.

Diophantine equations arise frequently in the solutions of puzzles.
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93. A dumb-terminal has extensive memory.

94. The information that is organized by channel cannot be grouped as text matter, graphical
signal. ‘

95. Netscape is a widely used web browser.

96. Unproces_sed facts and figures are sim;;ly data.
97. A good report contains less amount of informatipn.
98. News-reader is a hardware device on Usenet.

99. PKZIP is used to compress a file.

100. In “cic@ignou.ac.in” the domain name is ‘ignou’.
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